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GENERAL STUDIES AND GENERAL ABILITIES

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 630680413737 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Q2005 202365, S36-3 @ D080 I ©058E 0658 D3NNGS (DTZFAODNEY &)XY BF0 E?
Options :

1. ¥ Q0°Q

2. % &8)

3. % 8 DO

4. % »ned

Question Number : 1 Question Id : 630680413737 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In September 2023, which country claimed to have successfully launched an imaging satellite Noor-3 into space?
Options :

1. % Iran

2. % Turkey

3. % Saudi Arabia

4, % Qatar

Question Number : 2 Question Id : 630680413738 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

% 85°0 (23800 (DB TES” DD OTIPS S0° )08, 80O ¢3S & 184S 50230650 EOR &) 7
Options :
1. ¥ 3T

about:blank 2/111
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2. % Heedoh
3. % &80 (QenAS)
4. ¢ &ach

Question Number : 2 Question Id : 630680413738 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Leon Marchand, who was in news for his record-breaking performance, is associated with which of the following sports?
Options :

1. # Chess

2. * Shooting

3. % Archery

4. ¥ Swimming

Question Number : 3 Question Id : 630680413739 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

278 202365, FO0S 1EPsOE3 208D (CSC) 785 B3Yr5eS NSA 0w ISFSF0 T AB5er0ddB08.
Options :

1. # 382

2. ¥ 37O Hen

3. % 0rR3

4. % D)

Question Number : 3 Question Id : 630680413739 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In July 2023, the 7th Deputy NSA level meeting of the Colombo Security Conclave (CSC) was hosted by .
Options :

1. ¥ Mauritius

2. ¥ Maldives

3. % Bangladesh

4. % Seychelles

about:blank 3/111
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Question Number : 4 Question Id : 630680413740 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NE’ P S H H020H0D 808 F5S AE OB IE?

L I’ S & e3(DES G0N 20036 &SIrBoD0A.

IL [PE’5°S DS, (DHBZO s0TPE SFPEL O 0ONOA.
Options :

1. % 1305

2. % 1 S5

3. ¥ 10003 11 BOy

4. % 150 B 11 5°Q 5°¢0

Question Number : 4 Question Id : 630680413740 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct regarding the Maputo Protocol?
I. The Protocol was adopted by the African Union in 2003.
II. The Protocol provides for extensive and progressive women’s rights.

Options :

1. % Only I

2. % Only II

3.4 Both I and II
4. # Neither I nor II

Question Number : 5 Question Id : 630680413741 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PSESTEL) FNCES 3D (DOBE TN e33R 202365 888 (S0 0IDG0E?
Options :

1. ¥ o5 rd

2. % 3003

3. % °Q0rerd

4. ¢ 2005 %
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Question Number : 5 Question Id : 630680413741 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where was India’s first 3D printed post office inaugurated in August 2023?
Options :

1. ¥ Ahmedabad

2. # Mumbai

3. % Hyderabad

4. ¥ Bengaluru

Question Number : 6 Question Id : 630680413742 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3 1808 ¢3S T30(SOPS-3Q D2300S0HOMT EE 5578 938 23S %6750 E?
Options :

1. % LVM3 M4

2. % PSLV-C57

3. % PSLV-C48

4. % GSLV Mk I

Question Number : 6 Question Id : 630680413742 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following vehicle successfully launched Chandrayaan-3 into orbit.
Options :

1. ¥ LVM3 M4

2. % PSLV-C57

3. % PSLV-C48

4, % GSLV Mk II

Question Number : 7 Question Id : 630680413743 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 5/111
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GPS QONTE B33 &TIOTIE TP NAS (GAGAN) T SO° (P03AD GIHST 35785 @TO0TINS DR (SBAS)T 98590
BAHVROR.

L JONBFY ) 05r6¢3 &9 R0BAST (AAI)

I1. 37°5¢% @058%. JBFTRT SO (AL

Options :

1. % 1 300(ehodd

2. % 1 S57(hodd

3. ¢ [ 0805 11 BOCY®

4. % 1520 S 11 50 5°¢0

Question Number : 7 Question Id : 630680413743 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GPS Aided Geo Augmented Navigation (GAGAN) has been developed as a regional Satellite Based Augmentation System (SBAS) by .
I. Airports Authority of India (AAI)

II. Indian Space Research Organization (ISRO)
Options :

1. % Only I

2. % Only II

3. ¥ Both I and II

4. % Neither I nor IT

Question Number : 8 Question Id : 630680413744 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of November 2023, researchers from have developed a new artificial light-harvesting system that can efficiently capture light for power
conversion by mimicking photosynthesis.

I. IISER-Thiruvananthapuram

II. IIT-Indore

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

about:blank 6/111
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Question Number : 8 Question Id : 630680413744 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S30208 2023 T5°¢38, S0 HBFRZeN 8325 HOTITHBADN ©NEB0TIR0 & 0° 3§ S8 1B D0 570
0B 308501 HOHTPOIH T & (€36 ST0e3-D0NZ0 3530 ©NNYE BFK.

I. IISER-e330550655) 50

1L IT-R0&0

Options :

1. % 1305

2. % 1 S(ehodd

3. ¢ 10805 11 BOLY®

4. % 1520 S 11 520 5°¢D

Question Number : 9 Question Id : 630680413745 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R2-Eg DOTELL H00EO0D 0 T5756S A/ HBIE/D?

1. & R03) & e8¢ R0 201765 |7B0D0IDE0E.

%I. 'aéc% 5508 BOHOES” B e, STETTrEI) JENE)0END) HeNVLOZ0 (D558, NS00S0 HOXL,T° WOAOT JBE
&8.

Options :

1. % 1305

2. % 11 507(ehodd

3. ¢ 1 00A%W 11 BOY

4, % 150 B 11 5°Q 5°¢0

Question Number : 9 Question Id : 630680413745 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding e-Krishi Samvad?
I. This internet-based interface was launched in 2017.
II. This is a unique platform that provides direct and effective solutions to the problems faced by farmers and stakeholders in the agriculture sector.

Options :

about:blank 71111
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1. # OnlyI
2. % Only II
3.4 Both I and II
4. # Neither I nor II

Question Number : 10 Question Id : 630680413746 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

550208 20216, DTz§ S00(E3¢h ¢ T €3¢S 5506 T3 NOM 22305 NS B 50 B0 0A.
Options :

1. # CBSE

2. ¥ NCERT

3. % AICTE

4. % ITI

Question Number : 10 Question Id : 630680413746 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In November 2021, , under the aegis of Ministry of Education, conducted the National Achievement Survey throughout the country.

Options :

1. # CBSE
2. ¥ NCERT
3. % AICTE
4. % ITI

Question Number : 11 Question Id : 630680413747 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

285 (2306 € o) SDO(€365 ¢ TP I V% DOLID (0SC) NPT €900 TDO0E?
Options :

1. % es8s, 30002 HDOF.0D DO(Edh ¢ F°

2. ¥ 0°F°, 3D @99 @ $N0(e365 § TP

3. % 8D Sore, BIPTrB O[3 § T
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4. % 230238 T°SON0, QTS $D0(e365 § T

Question Number : 11 Question Id : 630680413747 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One Stop Centre (OSC) Scheme is implemented by which Ministry of the Government of India?
Options :

1. # Ministry of Health and Family Welfare

2. ¥ Ministry of Women and Child Development

3. % Ministry of Road Transport and Highways

4. # Ministry of Social Justice and Empowerment

Question Number : 12 Question Id : 630680413748 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(DTS 20013 $50 Trh SRS 9 808 a3e3S” BR 800 &RFOIDAS (205 ¢ HDHE0?
L S0 88.

I1. @ 000¢3eb 528500 P3re3E 23(Cded

Options :

1. % 1 300(ehodd

2. % 1 S57(hodd

3. ¥ [ 0805w 11 BOCY®

4. % 1570 S 5 11 570

Question Number : 12 Question Id : 630680413748 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pradhan Mantri Shram Yogi Maandhan is a government scheme meant for which of the following?
I. Old age protection
II. Social security of Unorganized workers

Options :

1. % Only I

2. % Only II

3. % Both I and II
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4. % Neither I nor II

Question Number : 13 Question Id : 630680413749 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0ES @SR 850 2030 DBOEES'Q 808 OF S AE DoNHD, DAFSRD T eSS DS S0OAN 9088 B ehseed
€923°5 €9ISF D (8¢5 )arc)0E?

Options :

1. % 8503

2.¥ 8504

3. % 8505

4. % 8506

Question Number : 13 Question Id : 630680413749 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Goals of the 2030 Agenda for Sustainable Development seeks to ensure inclusive and equitable quality education and promote
lifelong learning opportunities for all?

Options :

1. % Goal 3
2. % Goal 4
3. % Goal 5
4. % Goal 6

Question Number : 14 Question Id : 630680413750 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

55025 202165, 23055 (25 50 29958 €55 998 BN PGB DS BOGOE3E TASS BEES 9Z05NBAS & (E7S N6
006583850 98590 TONETE 208 €55) 5-°00 NI DTN T0H.
Options :

1. % o0 AW T°Y)
2. % 9650 13RS
3. % S eosTver
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4. ¢ Q598 DOF £

Question Number : 14 Question Id : 630680413750 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In November 2021, the Government of India Constituted a High-Level Committee to develop a National Credit Accumulation & Transfer Framework for
both Vocational and General Education under the chairmanship of

Options :

1. # Neelam Shammi Rao
2. * Sridhar Srivastava

3. % Manoj Ahuja

4. # Nirmaljeet Singh Kalsi

Question Number : 15 Question Id : 630680413751 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SO DTS DTS 2020 HOBB)IOE, §b &SI 0O FT°503° JTETIE HOD0A0D) 80 [HELIES’ DE(R) OB IE(D)?
L. 3 003507 SN N0EA (G085 2reds DOSE. S0OA50 DESE DORVD HE 5+3+3+4 06906 BB DR,

1 57569 5950 €9 S5YR sNO(E3e5 € TR T3 ST° (DO WE €98.T°I565, HOLTSF Q0D 230D DA DT YD TR

Options :

R NN

2. % 1 S5

3. ¥ 1 00A%W 11 BOY

4. % 1520 S 11 52 5°¢D

Question Number : 15 Question Id : 630680413751 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the National Education Policy 2020, which of the following statements is/are correct regarding the new pedagogical and curricular
structure?

I. A strong base of Early Childhood Care and Education from age 3 is included in the 5+3+3+4 structure.

II. A National Mission on Foundational Literacy and Numeracy will be set up by the Ministry of Human Resource Development.

Options :
1. # Only I

about:blank 11/111
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2. % Only II
3.4 Both I and II
4. # Neither I nor II

Question Number : 16 Question Id : 630680413752 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
edase (8sen 2023 S 38mraw.
Options :

1. ¥ 202 (Shenzhen)

2. ¥ P00 (Hangzhou)

3. % 7 50q° (Guangzhou)

4. % 0000 (Chongqing)

Question Number : 16 Question Id : 630680413752 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Asian Games 2023 was held in
Options :

1. # Shenzhen

2. ¥ Hangzhou

3. % Guangzhou

4. % Chongging

Question Number : 17 Question Id : 630680413753 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian men’s hockey team won the Asian Champions Trophy 2023 after defeating in the final.
Options :

1. ¥ Malaysia

2. # Japan

3. % Korea

4. % Pakistan

about:blank 12/111
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Question Number : 17 Question Id : 630680413753 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23585 HEDE T 23EY DISS” D 40D 2023 V0P TPONANS) 1D FentHH0L.
Options :

1. ¢ HSA0

2. % 2

3. % §8ay

4. % 8IS

Question Number : 18 Question Id : 630680413754 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

90 BerR 2,55e2.5 1808 & (8 H0200850 SR erroe) K02
Options :

1. % 25320800

2. % éa)é

3. % Joee3oh

4. v 0OP0D

Question Number : 18 Question Id : 630680413754 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sagar Kailas Ovhalkar is associated with which of the following sports?
Options :

1. ¥ Badminton

2. # Kabaddi

3. % Shooting

4. ¥ Mallakhamb

Question Number : 19 Question Id : 630680413755 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 13/111
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Correct Marks : 1 Wrong Marks : 0
2021 50565 Y078 8 9T 00 DeriioeS’ BIROA o0 BASS T S0I0 TS DSB Heh) BOTTE?
Options :
1. % S0 H8&
2. ¥ 250 3502300 533D
3. % 50340 Q) DOR HrgS
4. % DOSrol P

Question Number : 19 Question Id : 630680413755 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was honoured with the Tenzing Norgay National Adventure Award in the Water Adventure category for the year 20217
Options :

1. ¥ Naina Dhakad

2. % Shubham Dhananjay Vanmali

3. % Kunwar Bhawani Singh Samyal

4. * Priyanka Mohite

Question Number : 20 Question Id : 630680413756 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

23305 (8800 2022 H0SE)0S B0 TS DE(D) DBSE(D)?
L. SPOPsR° QOASNEOMT @969 3B $23¢% DB TeNTHZVOH.

1L BO& @655 S0’ 008 Do OO FOD0B.

Options :

1. % 1 30(ehodd

2. % 1 S57(hodd

3. ¥ 1 0805w 11 Bocky

4. % 1570 S 11 50 5°¢0

Question Number : 20 Question Id : 630680413756 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 14/111
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Which of the following statements is/are correct in the context of National Games 20227
I. Haryana won the joint highest number of silver medals.
II. Delhi won the second highest number of bronze medals.

Options :

1. % Only I

2. % Only II

3.4 Both I and II
4. % Neither I nor II

Question Number : 21 Question Id : 630680413757 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 8 NIE TS’ WS 95300 ) 2022 FentHEIT™) & 2
1. 258 108D So80

I1. &0 (0208

Options :

1. % 1 30(ehodd

2. % 1 S5(ehodd

3. ¢ 1 00A%W 11 BOy

4. % 1520 S 11 50 5°¢0

Question Number : 21 Question Id : 630680413757 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who of the following won the Arjuna Awards 2022 in chess?
I. Bhakti Pradip Kulkarni
II. R Praggnanandhaa

Options :

1. # Only I

2. % Only II

3.4 Both I and II
4. # Neither I nor II

about:blank 15/111
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Question Number : 22 Question Id : 630680413758 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0 S8 dedeS pH &0EN0E.
Options :

1. % 38

2.% 42

3.956

4. % 6.4

Question Number : 22 Question Id : 630680413758 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Normally rain water has a pH of
Options :

1. % 3.8

2.% 42

3.956

4. % 6.4

Question Number : 23 Question Id : 630680413759 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 55890 Q) BSD0DONIS ©0F2IPS0 DE?
L. 3080

1. ™

Options :

1. ¥ T 35530

2. % 1 S57(ehodd

3. % 10805 I BOY®

4. % 1570 S 11 5°Q 5°¢0

Question Number : 23 Question Id : 630680413759 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

about:blank 16/111
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Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following constitutes the biotic component of the biosphere?
I. Plants
II. Air

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 24 Question Id : 630680413760 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2570 &5 H85H0S FS50 DX BI80D) GOA.
Options :

1. % 45

2. % 55

3. % 65

4.9 175

Question Number : 24 Question Id : 630680413760 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Water covers about percent of the Earth’s surface.
Options :

1. % 45

2. % 55

3. % 65

4.9 75

Question Number : 25 Question Id : 630680413761 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 17111
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QSN0 pH DN QAT :
Options :
1.¥2
2.% 4
3.%6
4. % 8

Question Number : 25 Question Id : 630680413761 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The pH value of lemon juice is about
Options :

1.¥2

2. % 4

3.%6

4. % 8

Question Number : 26 Question Id : 630680413762 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding chlorofluorocarbons (CFCs)?

I. CFCs are used in refrigerators, air conditioners and aerosol sprays.

II. CFCs damage the ozone layer of the atmosphere.
Options :

1. # Only I

2. % Only II

3. ¥ Both I and II

4. % Neither I nor II

Question Number : 26 Question Id : 630680413762 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 18/111
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FEFSE)S) (CFCe)8 50220000 0B ¢3S B (HEEIS DE?
L. CFCOX 82T, D00 F0AAID, IEFS |0 GITBrATS.

II. CFCE) TSS90 Q) 8,857 PSS Ty o8
Options :

1. % 1 30(ehod

2. % 1 S07(ehodd

3. ¢ 10805 I BOLY®

4. % 1520 S 11 5 5°¢0

Question Number : 27 Question Id : 630680413763 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 6370788 €300 TBNEY DT TS0 DE?
Options :

1. ¢ DOBH0®

2. % SR’

3. % 300

4. % 305°0D

Question Number : 27 Question Id : 630680413763 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a natural source of tartaric acid?
Options :

1. % Tamarind

2. % Tomato

3. % Vinegar

4. % Brinjal

Question Number : 28 Question Id : 630680413764 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 19/111
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B8PS STHO 3D SN0B.
Options :
1. % DS D
2. % OB
3. ¥ O°GQ
4. ¥ 2000

Question Number : 28 Question Id : 630680413764 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Anaemia is caused by the deficiency of
Options :

1. # Vitamin D

2. * Phosphorus

3. # jodin

4. ¥ iron

Question Number : 29 Question Id : 630680413765 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 50 H0200H0D §0& ¢3S’ DB AE?
1. °¢38 &ea S $HOocs .

1. @3 38323 SEOGE® SH).

Options :

1. % 1 350(ehodd

2. % 1 S57(hodd

3. ¥ 1 080w 11 oy

4. % 1570 S 11 50 5°¢0

Question Number : 29 Question Id : 630680413765 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 20/111



10/19/23, 11:58 AM about:blank

Which of the following statements is/are correct regarding Mycoplasma?
I. They completely lack a cell wall.
II. They can survive without oxygen.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 30 Question Id : 630680413766 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(0°8%25 @9€20 B0 207° DEI?
Options :

1.%* CeHgO

2.%¥ CgH 3505

3. CeH 1,03

4.9 CgH ;04

Question Number : 30 Question Id : 630680413766 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the molecular formula of glucose?
Options :

2.% CgH 30>

Question Number : 31 Question Id : 630680413767 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 21111



10/19/23, 11:58 AM about:blank

808 ¢3S’ DEINS C TBNEY (DTS TS0 DE?
L. 23°%0 DO

1. (D

Options :

I NN

2. % 1 S07(ehodd

3. % 10805 I O

4. % 1520 S 11 5 5°¢0

Question Number : 31 Question Id : 630680413767 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a main source of Vitamin C?

I. Guava

II. Egg

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand II
4. % Neither I nor II

Question Number : 32 Question Id : 630680413768 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D0 - SIOHAE X2 80A 8B5S D DO 83eHNS JROE?
I. °00 P — Na,CO;

I 2R &2 2O - CaOCl,

Options :

1. ¥ 15575

2. % 1 S5°(hodd

about:blank 22/111



10/19/23, 11:58 AM about:blank

3. % 10805 11 Doy
4. % 1520 B 11 5°Q S0

Question Number : 32 Question Id : 630680413768 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘substance — chemical formula’ is/are correctly matched?
I. Washing soda — Na,CO3

II. Plaster of Paris — CaOCl,
Options :

1. % Only I

2. % Only II

3. % BothIand Il

4. % Neither I nor II

Question Number : 33 Question Id : 630680413769 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 BHOS T O@ @9 STVE TOAIE DE?
I e

|| IPVNFR AW

Options :

1. % 1 30(ehodd

2. ¥ 11 S55°(hodd

3. % 10805 I Bocky

4. % 1570 S 11 50 5°¢0

Question Number : 33 Question Id : 630680413769 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following organisms belongs to the phylum Annelida?
I. Scorpion
II. Earthworm

Options :

about:blank 23/11



10/19/23, 11:58 AM about:blank
1. # OnlyI
2. % Only II
3. % BothIandII
4. # Neither I nor II

Question Number : 34 Question Id : 630680413770 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR 199965, 9558 5 DI QB LD G TETES EEI DTYEN TFED.
Options :

1. ¥ J.C. DOS

2. % P K.Y

3. % A K. 3

4. % D.S. @

Question Number : 34 Question Id : 630680413770 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In August 1999, a High Powered Committee on Disaster Management was constituted under the Chairmanship of
Options :

1. ¥ J.C. Pant

2. % P.K. Sinha

3. % A.K. Bhalla

4. % D. S. Mishra

Question Number : 35 Question Id : 630680413771 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0OS oS ©0& T8 EXTAS E6) @0& B0 adNerseS S &od.
Options :

1. % 508686

2. ¢ TP

3. % °Q0rerd

about:blank 24/11



10/19/23, 11:58 AM about:blank

4. % ZBorErd

Question Number : 35 Question Id : 630680413771 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Central Soil and Water Conservation Research and Training Institute is located in
Options :

1. * Chandigarh

2. ¥ Dehradun

3. % Hyderabad

4. % Bengaluru

Question Number : 36 Question Id : 630680413772 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3¢ 5328 1950 E?
I. 083NN DBANCE0

11 258350 S ¢c80

Options :

1. ¥ 15575

2. % 1 S5°(ehodd

3. % 10805 I Bocky

4. % 1570 S 11 50 5°¢0

Question Number : 36 Question Id : 630680413772 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a natural hazard?

I. Landslide

II. Building collapse
Options :
1. ¥ Only I

about:blank 25/111



10/19/23, 11:58 AM about:blank
2. % Only II
3. % BothIandII
4. # Neither I nor II

Question Number : 37 Question Id : 630680413773 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&) TOTE ENES S0 AREE (D560, 808 ¢3S D 2T HOE H020Ee (DXITTe 805 SOEB8090G0E?

L. 8&yen
I1. 235°8 0PN

Options :

1. % 1 35(ehodd

2. ¥ 11 S55°(Hodd

3. % 10805 11 Bocky

4. % 1520 S 11 50 5°¢0

Question Number : 37 Question Id : 630680413773 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the final report of the High Powered Committee on Disaster management, which of the following is/are categorised under Geologically related
Hazards?

L. Droughts

II. Earthquakes

Options :

1. % Only I

2. Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 38 Question Id : 630680413774 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2XSS$T30S, Ty 50 25750 DN NSO BFE0TZ NS0,
Options :

about:blank 26/111



10/19/23, 11:58 AM about:blank
1. ® 40
2. %50
3. ¥ 60
4. % 170

Question Number : 38 Question Id : 630680413774 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, about percent of the landmass is prone to earthquakes of various intensities.
Options :

1. % 40

2. % 50

3.9 60

4. % 70

Question Number : 39 Question Id : 630680413775 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1970 0B 2rBHTI0S” N0ZDODNS Y DI HOSGE)OS” & (OB 1HDEEIOS’ AE(Q) HBIE(D)?

120 @5205 19915 &35S’ 6.6 335 D0ZIDODD BPE0N0 SV 700 SHDOAE T DBEF0TT .

IL 1993 220235 308 exedTeS” TP 8000 $00E SHBEF0TTE DBAN T OF DN OFOZ 2378 Q0 38A08.
Options :

1. % 1 30(ehodd

2. % 1 S5°(ehodd

3. ¥ 1 D80 11 Bocky

4. % 1520 S 11 50 5°¢0

Question Number : 39 Question Id : 630680413775 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of major disasters in India since 19707
I. An earthquake of magnitude 6.6 killed more than 700 people in Uttarkashi on 20th October 1991.
II. Approximately 8000 people died and there was a heavy loss to infrastructure in Latur on 30th September 1993.

Options :

about:blank 27/111



10/19/23, 11:58 AM about:blank
1. # OnlyI
2. % Only II
3.4 Both I and II
4. % Neither I nor II

Question Number : 40 Question Id : 630680413776 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RBE 2BHOS 3FEN XTEYEN ASIVOT TTIEIOS eh0eh AN FPSD  e90erd.
Options :

1. ¢ |E)0H 5

2. % | PER)0HD

3. % 582)0%5

4. % JFY)HAHD

Question Number : 40 Question Id : 630680413776 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The lowest region of atmosphere in which the human beings along with other organisms live is called
Options :

1. % troposphere

2. % stratosphere

3. % thermosphere

4. % exosphere

Question Number : 41 Question Id : 630680413777 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o S50 695 rane>eS DALTBS0 mehes DEDHADE AP0,
Options :

1. ¢ 2535 50N R0 (23357 H) DIAS)

2. % O’ DIAS

3. % D85535 (BErEHIDIAS)

about:blank 28/111



10/19/23, 11:58 AM about:blank

4. % BP0 (AD)a0AN)

Question Number : 41 Question Id : 630680413777 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
refers to increase in concentration of the toxicant at successive trophic levels.
Options :
1. ¥ Biomagnification
2. # Eutrophication
3. % Detoxification

4. % Inflammation

Question Number : 42 Question Id : 630680413778 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5,55 860580 2355 SINOA.
Options :

1. % &3S o3&

2. ¥ 28)Q Irr3 )&

3. % J0)0 A3 &

4. ¥ SEYFE 52850

Question Number : 42 Question Id : 630680413778 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is/are responsible for ozone depletion.
Options :
1. % Hydrogen peroxide
2. % Carbon monoxide
3. % Sulphur dioxide
4. % Chlorofluorocarbons

about:blank 29/11



10/19/23, 11:58 AM about:blank

Question Number : 43 Question Id : 630680413779 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rSSTI0S $2Q) TOW SN S SSEEOM B )T AN (PN TS DO DONO(E) TIEO & DO B80S
038092 B08?

Options :
1. % 1981
2.4 1987
3. % 1991
4. % 1997

Question Number : 43 Question Id : 630680413779 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was the Air (Prevention and Control of Pollution) Act amended in India to include noise as an air pollutant?
Options :

1. # 1981

2.4 1987

3. % 1991

4, % 1997

Question Number : 44 Question Id : 630680413780 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a greenhouse gas?
L. Sulphur dioxide
II. Carbon dioxide

Options :

1. % Only I

2.9 Only II

3. % BothIandII
4. #* Neither I nor II

about:blank 30/111



10/19/23, 11:58 AM about:blank

Question Number : 44 Question Id : 630680413780 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
806 ¢3S |ASTTR O30 AE?
L O)b ¢asr3)&

IL 5°8)Q A3 )&

Options :

R NS

2. ¥ 11 S55°(H o

3. % 10005 11 BOy

4. % 150 B 11 5°Q 5°¢0

Question Number : 45 Question Id : 630680413781 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2938 BN DB SR8 H00HOD 808 ¢3S HBIE NE?
L Jo &

1. 3083

Options :

1. % 1 300(ehodd

2. % 1 S57(ehodd

3. ¥ [ 0805 11 BOCY®

4. % 1570 S 11 5°Q 5°¢0

Question Number : 45 Question Id : 630680413781 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are correct regarding the consequence of deforestation?
I. Soil erosion
II. Desertification

Options :

1. # Only I

2. % Only II
3.4 Both I and II

about:blank 31111



10/19/23, 11:58 AM about:blank
4. % Neither I nor II

Question Number : 46 Question Id : 630680413782 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR JHE H020E0D 80& ¢3¢ DA(D) DBISE()?

L. 2O O30 Q0BT HyfSA000, BE 257 EdOH0 DO TPTIBEI0 38 237355 SN0,
IL Qe3 555906 #3FOO S D0 9OZOTT DIEZOFESH0 SO A HOLBAROA.

Options :

1. ¥ 15575

2. % 1 S57(hodd

3. % 108050 11 Botsw

4. % 1570 S 11 50 5°¢0

Question Number : 46 Question Id : 630680413782 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are correct regarding the greenhouse effect?
I. It is a naturally occurring phenomenon that is responsible for heating of Earth’s surface and atmosphere.
II. It is caused due to excessive accumulation of biodegradable substance in water system.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 47 Question Id : 630680413783 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1808 73S DE'S S H2S 0T CNG By (DTe3850 E?

1. CNGQ ©0&0NEE DB JANO0.

IL CNGQ E'S B G3S e DS &0 0° e3SODH0 50 S°C.
Options :

1. % 1305

about:blank 32/111



10/19/23, 11:58 AM about:blank
2. ¥ 11 557 Hodd
3. % 1 0805w I Bocky
4. % 1520 S 11 50 5°¢%0

Question Number : 47 Question Id : 630680413783 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an advantage of CNG over petrol or diesel?
I. Laying down pipelines to deliver CNG.
II. CNG Cannot be siphoned off like petrol or diesel.

Options :

1. % Only I

2.9 Only II

3. % Both Iand II
4. * Neither I nor I

Question Number : 48 Question Id : 630680413784 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SS0 SIS (B £9) IO S @hen TAHDE0E.
Options :

1. ® 1964

2. % 1968

3. ¥ 1972

4. % 1976

Question Number : 48 Question Id : 630680413784 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian Wildlife (Protection) Act was implemented in
Options :

1. ¥ 1964

2. % 1968

3.¥ 1972

about:blank 33/11



10/19/23, 11:58 AM about:blank
4. % 1976

Question Number : 49 Question Id : 630680413785 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rESTE IT00S ) TS50 LT (FOSO.
Options :

1. % 12

2. % 17

3.% 22

4.9 27

Question Number : 49 Question Id : 630680413785 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

About percent of the area of India is the plateau region.
Options :

1. % 12

2. %17

3.% 22

4.9 27

Question Number : 50 Question Id : 630680413786 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
OO IO (BB @00erd.
Options :

1. #® 32D

2. ¥ 35098

3. % S

4. % Jroc o

about:blank 34/11



10/19/23, 11:58 AM about:blank

Question Number : 50 Question Id : 630680413786 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The outermost range of the Himalayas is called the
Options :

1. * Himadri

2. % Shiwaliks

3. % Himachal

4. % Purvachal

Question Number : 51 Question Id : 630680413787 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fersd® S8 H0220H0D 808 ¢3S DE(R) DB IE(D)?
L 28 NIT(QAS'Q °8 28 H)o0 E00© e &),
1L ?E B> D[S0 EenNOA.

Options :

1. ¥ T 3553

2. % 1 S°(ed o

3. % 10805 I BOs®

4. % 1520 S 11 520 5°¢D

Question Number : 51 Question Id : 630680413787 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Godavari river?
L. It rises from the slopes of the Western Ghats in the Nasik district of Maharashtra.
II. It drains into the Arabian Sea.

Options :

1.4 Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

about:blank 35/111



10/19/23, 11:58 AM about:blank
Question Number : 52 Question Id : 630680413788 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
2,0(C8) 38 H020HOD 80 TS DA(D) DBISE()?
L. b 2,08 DGR 5778 @), §¢5 2,0 DER 2058 & 0.
I1. 2050 0T 70 PBS0S .

Options :

R NS

2. ¥ 11 S55°(H o

3. % 10805 I BOs®

4. % 1520 S 11 52 5°¢D

Question Number : 52 Question Id : 630680413788 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding alluvial soil?
I. Old alluvial soil is called Khadar and new alluvial is called Bangar.
II. Khadar is more fertile than the bangar.

Options :

1. % Only I

2. Only I

3. % BothIandII
4. # Neither I nor II

Question Number : 53 Question Id : 630680413789 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTBFOS' €S TR D0D0E0D §0A (DEELIIOES” DA(D) DB IE()?
L 28 DO, KOMP, (23572 h ¢3S &SNS EO0NES B YROA.

11 &8 TS0 TPes) 2400 kme>eS' QN0 &od

Options :

1. % 1 30(ehodd

2. % 1 557(hodd

3. ¥ 1508050 I By

about:blank 36/111



10/19/23, 11:58 AM about:blank

4. % 1520 S 11 5°Q S0

Question Number : 53 Question Id : 630680413789 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the northern plain of India?
I. has been formed by the interplay of the Indus, the Ganga and the Brahmaputra along with their tributaries.
II. The plain is about 2400 km long.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 54 Question Id : 630680413790 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the climate of India?
I. The cold weather season begins from mid November in northern India and stays till February.
II. December and January are the coldest months in the northern part of India.

Options :

1. ® OnlyI

2. % Only II

3.4 Both I and II
4. # Neither I nor II

Question Number : 54 Question Id : 630680413790 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTBFIOS' TEISETIE D020E0D 808 ¢3S DE(D) DBIE(D)?

L &S5 eSS TI0S BHO @IS0 950208 ¢S DOG FNAS D258 BB GOLNOA.

IL 2SS TBF0S €5 235063 G025 DO 28338 FOEN 65505 IO S OETow.
Options :

1. % 1 35(ehodd

about:blank 37/11



10/19/23, 11:58 AM about:blank
2. % 1 S5°(hodd
3. ¥ 1 D80 11 Bocky
4. % 1520 S 11 50 5°¢%0

Question Number : 55 Question Id : 630680413791 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2RO GETEINS0 - TR0 TBwEy 80 235O DE/DR DO 23593 )22G 02358 Y2 T ON?
L. 80550 Boid 823D § - 38

IL o0 B0 88D § - 2,47

Options :

1. ¥ 15575

2. % 1 S57(hodd

3. % 108050 11 Bosw

4. % 1570 S 11 50 5°¢0

Question Number : 55 Question Id : 630680413791 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘national park - state’ is/are correctly matched?
I. Periyar Tiger Reserve - Kerala
II. Manas Tiger Reserve - Odisha

Options :

1. Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 56 Question Id : 630680413792 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0650 SE $55050 000D §0E ¢3S DBIE/Q DE/D?
I 6336565 S35 HE0) SUS O S GIDN0E.
11 20N & B0 Fc8sY 3900 km.

about:blank 38/111



10/19/23, 11:58 AM about:blank
Options :
1. ¥ 13575
2. % 1 S57(ehodd
3. % 100A%W 11 BOy
4. % 150 B 11 5°Q 5°¢0

Question Number : 56 Question Id : 630680413792 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Indus river system?
I. The river Indus rises in Tibet, near Lake Mansarowar.
II. The total length of the Indus is 3900 km.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand II
4. * Neither I nor II

Question Number : 57 Question Id : 630680413793 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PO (O DE0eN EcE 23S TrersofiosS o sor &) S ow.
Options :

1. % 3255 DS

2. % 3485 D586

3. ¥ 4285 O58¢€d

4. % 4485 0586

Question Number : 57 Question Id : 630680413793 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fundamental Duties of the citizens have also been enumerated in the Indian constitution by the
Options :

1. * 32nd Amendment

about:blank 39/111



10/19/23, 11:58 AM about:blank
2. % 34th Amendment
3. % 42nd Amendment
4. % 44th Amendment

Question Number : 58 Question Id : 630680413794 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2355 72506065 0B &) &3QES 158 DBH) e, (DTFEN, 2730 (N5 EONS SN 556978 ©0ONOE?
Options :

1. % 8% 35

2. % 855 39

3. % &308S 45

4. ¢ s88S 49

Question Number : 58 Question Id : 630680413794 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Indian Constitution provides for ‘protection of monuments and places and objects of national importance’?
Options :

1. # Article 35

2. % Article 39

3. % Article 45

4. ¥ Article 49

Question Number : 59 Question Id : 630680413795 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2S¢ Tress00eS° R e85 29 808 ¢3S BI @oHBNOE?

Options :

1. ¥ J0"080 0220500 38, HB0DS 8.

2. ¥ D830 (HTBresred HOBE

3. % DRE ATFED 280

4. % 58 50850 INABS 3°¢38 000NN T Py B8 €

about:blank 40/111
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Question Number : 59 Question Id : 630680413795 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Article 29 of the Indian Constitution provides for which of the following?
Options :

1. # Protection in respect of conviction for offences

2. ¢ Protection of interests of minorities

3. # Right against discrimination

4. * Protection of certain rights regarding freedom of speech, etc

Question Number : 60 Question Id : 630680413796 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

305S - 1B TBwEy 80O BSOS D 278 T°2*S0H0 (DSE0 DO 28NS IDAR0E ?

1. e0%S 5 - 072350650 .08 3 HOBEBY0S DSOS SO

11 @&398S 10 - 233550 NN DIVN) 23°8eh H0eHe8 TOAS PR 3530 B ¢ 532800
Options :

IS NN

2. % 1 S5

3. % 10005 11 Boy

4. % 150 B 11 5°Q 5°¢0

Question Number : 60 Question Id : 630680413796 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Article — provision’ is/are correctly matched as per the context of the Indian Constitution?
L. Article 5 - Citizenship at the commencement of the Constitution.
II. Article 10 - Rights of citizenship of certain persons of Indian origin residing outside India.

Options :

1.4 Only I

2. % Only II

3. % BothIandII
4. # Neither I nor IT

about:blank 41/111
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Question Number : 61 Question Id : 630680413797 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

309 2023 °¢38, 2B SHTFOS 80O O T RO & £23 TS Da5en BYy?
Options :

1. % 008

2. % 80|A0BT

3. % D50

4. ¢ HB BomrO

Question Number : 61 Question Id : 630680413797 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of August 2023, which of the following states in India does NOT have a bicameral legislature?
Options :

1. # Karnataka

2. # Andhra Pradesh

3. % Bihar

4. ¥ West Bengal

Question Number : 62 Question Id : 630680413798 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the Governor of a State is appointed by the
Options :

1. ¥ Prime Minister

2. % President

3. % Council of Ministers

4. % Vice President

Question Number : 62 Question Id : 630680413798 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
about:blank 42/111
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2PESTBIOS, TR HSB)D 50 QODDONDGTED.
Options :
1. % (DS oles
2. ¥ ool Qded
3. % 00(ed 0O
4. % D O QDD

Question Number : 63 Question Id : 630680413799 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L Ore3s02580 D8-S 3558 ETS.
Options :

1. % ool QQded

2. ¥ GO T Qed

3. % (D5 Oo(es

4. % E0( D BN e8erd 23385

Question Number : 63 Question Id : 630680413799 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The acts as the ex-officio Chairman of the Rajya Sabha.
Options :

1. # President

2. ¥ Vice President

3. # Prime Minister

4. % Comptroller and Auditor General

Question Number : 64 Question Id : 630680413800 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2,8 558 2,8 DA’ By, € DA B30T e9ed B T HOR), 0 BEL 2378 TYWoA.
Options :
1. ¢ & ¢ 00

about:blank 43/111
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2. % TrDOHR SPSEHR
3. % "0
4. % 038

Question Number : 64 Question Id : 630680413800 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the court finds that a person is holding office but is not entitled to hold that office, it issues the writ of
Options :

1. % quo warranto

2. %* habeas corpus

3. ¥ mandamus

4, % certiorari

Question Number : 65 Question Id : 630680413801 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ & TR0 30 0T DBV 825 ATBFeEIT°EN Erroe) ON?
1. DB)eN BOrd

IL ST

Options :

1. ¥ 15575

2. % 1 S57(hodd

3. % 1 0805w I Bocky

4. % 1520 S 11 520 5°¢0

Question Number : 65 Question Id : 630680413801 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following states have more than 30 Lok Sabha constituencies?
I. West Bengal
II. Madhya Pradesh

Options :
1. ¥ Only I

about:blank 44/111
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2. % Only II
3. % BothIandII
4. # Neither I nor II

Question Number : 66 Question Id : 630680413802 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2S¢ 0025006 Q) ORTAANS 2DeeS’ 80 0TS’ DO BEIDB0E?
I. @C8a)eN

L. 88

Options :

1. % 1 30(ehodd

2. ¥ 11 S55°(H o

3. % 1 0805w I Bocky

4. % 1520 S 11 50 5°¢0

Question Number : 66 Question Id : 630680413802 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following subjects is included in the Union list in the Indian Constitution?
I. Forests
II. Defence

Options :

1. % Only I

2.9 Only II

3. % Both I and II
4. % Neither I nor I

Question Number : 67 Question Id : 630680413803 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S80S 9HTTOZ H020E0R 808 &7¢3¢S° AA() DBIA()?

1 28 185555 SIB050 (556585 DEVOX (HHF DI @sdnen TADHE.

IL 7[5 2@’ TS )22GS AT THEFOD ErProd0T @OTTR) A ANTFICNS TFTT00ENE R SHE.

about:blank 45/111
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Options :
1. ¥ 13575
2. % 1 S57(ehodd
3. % 100A%W 11 BOy
4. % 150 B 11 5°Q 5°¢0

Question Number : 67 Question Id : 630680413803 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the powers of the Lok Sabha?
L. It can Introduce and enact money and non money bills.
II. It can give the Union parliament power to make laws on matters included in the State list.

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand II
4. %* Neither I nor II

Question Number : 68 Question Id : 630680413804 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2Geh T°es0N0eS R & TS 1HOTPONEBS AT, 95OeS SHBM 2700 55OE' D0DO0QODIE ?
Options :

1. % &2

2. % DA

3. ¢ DAT0%S

4. % HJ)08S

Question Number : 68 Question Id : 630680413804 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Schedule of the Indian Constitution is related to 'powers, authority and responsibilities of Panchayats'?
Options :

1. #* Ninth

about:blank 46/111
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2. % Tenth
3. % Eleventh
4. % Twelfth

Question Number : 69 Question Id : 630680413805 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

072325005 D389 FE (D20 EE B0 0T TEFPONOTTON.
Options :

1. % 16

2. %19

3.% 24

4.9 29

Question Number : 69 Question Id : 630680413805 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Constitutional amendments assigned subjects to the local governments.
Options :

1. # 16

2. %19

3.% 24

4.9 29

Question Number : 70 Question Id : 630680413806 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ (TP E (2N SOZ) D000 TS0 3B DE?
Options :

1. % 7285 0589

2. ¥ 7385 0589

3. % 745 Q58€d

4. % 758 038

about:blank 47/111
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Question Number : 70 Question Id : 630680413806 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following constitutional amendments is about rural local governments?
Options :

1. # 72nd amendment

2. ¢ 73rd amendment

3. % 74th amendment

4. % 75th amendment

Question Number : 71 Question Id : 630680413807 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

255 07250506 & SQES BN IO BTN, 05rE¢S HBOKN 2¢H5eHEN BNABS 3°¢38' HoDOBODIE?
Options :

1. % &8%S 243C

2. v 803D 243G

3. % e385 2438

4. % 308 243W

Question Number : 71 Question Id : 630680413807 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Article of the Indian Constitution is related to 'powers, authority and responsibilities of Municipalities, etc.'?
Options :

1. # Article 243C

2. % Article 243G

3. ¥ Article 243S

4. % Article 243W

Question Number : 72 Question Id : 630680413808 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
about:blank 48/111



10/19/23, 11:58 AM about:blank
T (D20E S8 HODO0E0D 808 T IOS” E(D) HBIE(D)?
L P8 s08A50 28 PoneS” P (925065 553 (5525065 €0.
1 (923050 663 eI ¢ 8T, 50505 DB DBNLO0IR0 TR0 FE (D20E Q) DODE0IR0 D EBSOMT SOENOD.
Options :
1. % 1 30(ehodd
2. % 1 S5°(ehodd
3. ¥ 1 0805 11 Bocky
4. % 1570 S 11 50 5°¢0

Question Number : 72 Question Id : 630680413808 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding local government?
I. Local government is government at the village and district level.
II. It is convenient for the people to approach the local government for solving their problems both quickly and with minimum cost.

Options :

1. % Only I

2. % Only II

3. ¢ Both I and II
4. %* Neither I nor II

Question Number : 73 Question Id : 630680413809 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SOBAST & &S’ T50DDTC.
Options :

1. % 1857

2. % 1858

3. ¥ 1859

4. % 1860

Question Number : 73 Question Id : 630680413809 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 49/111



10/19/23, 11:58 AM about:blank
Tantia Tope was killed in
Options :
1. # 1857
2. % 1858
3. ¥ 1859
4. % 1860

Question Number : 74 Question Id : 630680413810 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D AP0 DHOHOS’ BOPS a2 JIE?
Options :

1. % 3008 %O 8

2. % @030 eSS

3. % B 7o

4. ¢ JUrZ e

Question Number : 74 Question Id : 630680413810 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the nawab of Bengal during the Battle of Plassey?
Options :

1. #* Murshid Quli Khan

2. # Alivardi Khan

3. % Mir Qasim

4. ¥ Sirajuddaulah

Question Number : 75 Question Id : 630680413811 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D85398 03723303 TR0 ED :
Options :

1. ¢ %S0 IS

about:blank 50/111
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2. % (3 0°0P0E K00
3. % 580 008500
4. % 35 H0Bd DS

Question Number : 75 Question Id : 630680413811 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Satyashodhak Samaj was founded by .
Options :

1. ¥ Jyotirao Phule

2. # Shri Narayana Guru

3. % Haridas Thakur

4, % Keshub Chunder Sen

Question Number : 76 Question Id : 630680413812 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&3DA5TE3E FES @D TBOMPS D IS FPDOTTS?
Options :

1. % 570R 2ol 5SS

2. % 00 HB

3. % B O

4. ¢ DO0HO Q)

Question Number : 76 Question Id : 630680413812 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who set up the Asiatic Society of Bengal?
Options :

1. % Thomas Babington Macaulay

2. # Charles Wood

3. % James Mill

4. ¥ William Jones

about:blank 51/111
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Question Number : 77 Question Id : 630680413813 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

€35)) ANEFPSE H0220H0D §0E 3¢3S” DE(D) DBIE(D)?

L €950 179265 DTS B0 0575 e8.

IL €653 179965° €55 T3 (FB0MHIEIY 00 B8 0N 1HIEAHS BeSoTrds.

Options :

D NI

2. ¥ 11 3750

3. % 10805 I BOs®

4. % 1520 S 11 52 5°¢D

Question Number : 77 Question Id : 630680413813 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding Tipu Sultan?
I. He became the ruler of Mysore in 1792.
II. He died defending his capital Seringapatam in 1799.

Options :

1. % Only I

2. ¥ Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 78 Question Id : 630680413814 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0D — 9 DBIBS D05BIE0" E HO0EODNS o0& BSOS’ DA/ DO 2835NS JBOE/235NS JT°ON?
L. Q0ACN RO RANS @0& Z08AHS s°o(AR - 1917

IL DEBAS &5 O R0ABOHS 7005 &5 D) @05 QOGN - 1927

Options :

1. % 1 350(ehodd

2. ¥ 11 557 Hodd

about:blank 52/111
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3. % 10805 11 Doty
4. % 1520 B 11 5°Q 50

Question Number : 78 Question Id : 630680413814 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘organisation - year of formation’ is/are correctly matched?
I. Indian Industrial and Commercial Congress - 1917
II. Federation of the Indian Chamber of Commerce and Industries - 1927

Options :

1. % Only I

2.9 Only II

3. % Both I and II
4. % Neither I nor I

Question Number : 79 Question Id : 630680413815 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(2572 D28 H020E0D 808 57¢36S° AA(R) DBIE(R)?

L. 2O @) 857 JHITFT IS SDOAN 220 AAHODOA.

I1. 26585 0SDBN STTPT° O Do YOIBOTT 53 D25 A QODOA.

Options :

1. % 1505

2. % 1 S(ehodd

3. ¢ 10805 11 BOE®

4. % 1520 S 11 50 5°¢0

Question Number : 79 Question Id : 630680413815 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the Brahmo Samaj?

L. It prohibited all forms of idolatry and sacrifice.

II. It forbade its members from criticising other religious practices.

about:blank 53/111
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Options :
1. ® OnlyI
2. % Only II
3.4 Both I and II
4. # Neither I nor II

Question Number : 80 Question Id : 630680413816 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who established the Indian Statistical Institute (ISI) in Calcutta?
Options :

1. # M. S. Swaminathan

2. % P. C. Mahalanobis

3. % CR.Rao

4. % D. R. Kaprekar

Question Number : 80 Question Id : 630680413816 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5SS’ R0BONS FE3VES BEVERSE (ISDQ DS T DOTTEY?
Options :

1. % M. S. 500D

2. ¥ P.C. DIFOSDD

3. ¥ CR. 0%

4. % D R.EDED

Question Number : 81 Question Id : 630680413817 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Erer 06 @0& S L0 (TISCO) S’ FDOIDE0E.
Options :

1. % 1901

2. % 1903

about:blank 54/111
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3. % 1905
4. ¥ 1907

Question Number : 81 Question Id : 630680413817 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Tata Iron and Steel Company (TISCO) was incorporated in
Options :

1. % 1901

2. %1903

3. % 1905

4. % 1907

Question Number : 82 Question Id : 630680413818 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S OOST BIODOE TN 52006 [PS0D 023G ON.
Options :

1. % 570 HOINY (D7D

2. ¥ S H0TISY (DT

3. % @383 D0NEHNE (DeT DY

4. % D55 DONNY |HET Y

Question Number : 82 Question Id : 630680413818 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hill Area Development Programmes were initiated during
Options :

1. # Fourth Five Year Plan

2. ¥ Fifth Five Year Plan

3. % Sixth Year Plan

4. # Seventh Five Year Plan

about:blank 55/111
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Question Number : 83 Question Id : 630680413819 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
2rSESTI0S T8 DRSO INH0S 0B ¢3S’ DA(D) DBIE(D)?
L 9% OHDEIT) DA 857 (HYV) DS GIITA0TIH0 9O e3558 55 €5ed YRS 08 DEHAOD 3O AFrDNOA.
1. & QST DABITIE ST SRS ABYON, B0 FHHE0S e DB e HEHT® @939E0.
Options :
R NS
2. % 1 S57(ehodd
3. ¢ 1 00A%W 11 BOY
4. % 150 B 11 5°Q 5°¢0

Question Number : 83 Question Id : 630680413819 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the Green Revolution in India?
L. This refers to the large increase in production of foodgrains resulting from the use of high yielding variety (HYV) seeds.
II. The use of these seeds required the use of fertilisers and pesticide in the correct quantities as well as regular supply of water.

Options :

1. % Only I

2. % Only II

3.4 Both I and II
4. # Neither I nor II

Question Number : 84 Question Id : 630680413820 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of a capitalist society?
[.Only those consumer goods are produced that are in demand.
II.The goods produced are distributed among people on the basis of Purchasing Power.

Options :

1. ®* OnlyI

2. % Only II

3. % Both I and I

about:blank 56/111
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4. % Neither I nor II

Question Number : 84 Question Id : 630680413820 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DENDATE HDSTB0 DAOHOS’ 808 3¢3S” DA(R) HBIE(D)?

L. ASr08 &), DATITH S EN S5°(H3% eoed I AT ON.

1L €565 )83 ONDAS 9NN Feddffex 38 escSom (5236 eSS HDOVES TOH2hTTON.

Options :

1. % 1 300(ehodd

2. % 1 S57(ehodd

3. ¥ [ 0805w 11 BOCY®

4. % 1570 S 11 50 5°¢0

Question Number : 85 Question Id : 630680413821 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DENS 20 S DSBS 2308 Tohcherow.
Options :

1. % 120 820 0T 8035

2. % 90 Feren S @0SHE0T D80S

3. ¢ 2,8 5055180 B @0HE0T) BV

4. % 2,8 30565350 0T 5808

Question Number : 85 Question Id : 630680413821 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Government bonds are issued with original maturity of
Options :

1. # less than 120 days

2. % 90 days or more

3. ¥ one year or more

4. % less than one year

about:blank 57/111
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Question Number : 86 Question Id : 630680413822 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SNY BXIT0& BB VBTHEHD ™ 558880950,

Options :

1. % DIATITHET SIS AN’ S350 FH0 / 9D OSS” S 350
2. % S50 BB BB S3esd) /

SN BXITr0&S S ) TS0

3. ¢ 30 §FH0 AXTOE SIS B0 /

SN SBES’ B0 FeHO

4. % 305 00 HOXITea0S QES S50 /

SN HBHTES” 3370 F°H0

Question Number : 86 Question Id : 630680413822 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Price elasticity of demand for a good can be expressed as

Options :

1. # percentage change in income of a consumer / percentage change in the price of the good

2. ¥ net change in price of the good /
percentage change in the demand of the good

3. ¥ percentage change in demand for the good /
percentage change in the price of the good

4. % net change in quantity for the good /
percentage change in the supply of the good

Question Number : 87 Question Id : 630680413823 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

¢2n) 00 RIS BITro&d Q) T°ANITD).
(98,5 T T STBLE 5B BN OB 11y, OO 1, T 1 DS SOBOK B HODSIEN)
Options :

about:blank 58/111
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ME = Imax + I/ I- I'min

1. %
M2 = rmax -1 / - I'mi
2 v 5 max =41 ¢ 1= imin
M& = / 1+ I'my
. s I'max -I'/ I'™ I'min
3.

M = Iyax + 1/ T + I'min
4. %

Question Number : 87 Question Id : 630680413823 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The speculative demand for money can be written as .(where r is the market rate of interest and r,,, and r,;,, are the upper and lower limits of r)
Options :
ME = rmax + r ."II. f- rﬂ]iﬂ
1. %
ad _ I
- M¢ = max -1 / I~ I'min
3. %

M& = yax + 1/ T + I'min
4. %

Question Number : 88 Question Id : 630680413824 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
INUAINESEANITAREVEVNIN 3 DS DRVR0.

about:blank 59/111
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Options :
1. % @085 DS
2. ¥ DTS-t S-8
3. % 2 DITOSDD
4. % QB . RONO

Question Number : 88 Question Id : 630680413824 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The concept of human development was introduced by
Options :

1. % Amartya Sen

2. ¥ Mahbub-ul-Haq

3. % P. C. Mahalanobis

4. % Ellen C. Semple

Question Number : 89 Question Id : 630680413825 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

rESTFOS' TS0 B0 Fh)S 2O ST TTBen FSOMT ") ON?
Options :

1.¥2

2. %8

3.% 12

4. % 18

Question Number : 89 Question Id : 630680413825 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The National Highways constitute about percent of the total road length in India?
Options :

1.v2

2. %8

about:blank 60/111
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3.% 12
4. % 18

Question Number : 90 Question Id : 630680413826 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20 (TN 5T AT X598 232505 (NABARD)E H020E0D 808 55065 /DD OBSE/BIN?

L. NABARD 1972¢5° "0t520808.

IL [[T3069 @308 555065 P @), DOV 5B 55T e LON0 TOLETIE 28 €908 ) 2B NABARD JT°)EN
DONDR0H.

Options :

1. % T 35

2. ¥ 11 557 ¢H o

3. % 1 00A%W 11 DO

4. % 1570 S 11 50 5°¢0

Question Number : 90 Question Id : 630680413826 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the National Bank for Agriculture and Rural Development (NABARD)?
[. NABARD was set up in 1972.
II. NABARD was set up as an apex body to coordinate the activities of all institutions involved in the rural financing system.

Options :

1. % Only I

2. Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 91 Question Id : 630680413827 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

27 2023 °¢38, oS 200N E) ON.
Options :

1. % 28

about:blank 61/111
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2.9 33
3. % 36
4. % 39

Question Number : 91 Question Id : 630680413827 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of July 2023, there are districts in Telangana.
Options :

1. % 28

2.9 33

3. % 36

4. % 39

Question Number : 92 Question Id : 630680413828 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOI’ 08 Ferden SO0 O (mm)
Options :

1. % 805.4

2. % 8754

3.¥°9054

4, % 9754

Question Number : 92 Question Id : 630680413828 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Annual Normal Rainfall in Telangana is millimetres (mm)
Options :

1. ® 805.4

2. % 8754

3.4 9054

4, % 9754

about:blank 62/111
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Question Number : 93 Question Id : 630680413829 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO L3¢ eesoeres 598,220, 23065220 AEY, D) I, 3OO &Go&.
Options :

1. % 21

2. % 28

3.¥ 103

4, % 365

Question Number : 93 Question Id : 630680413829 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana is endowed with a rich diversity of flora and fauna with mammal species.
Options :

1. % 21

2. % 28

3.4103

4, % 365

Question Number : 94 Question Id : 630680413830 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SS5TENE €925AITEEISO - BE'OE HODO0E0DD 0B BOLOES IE(R) HOTP 236538 JIB0E/23¢5DS YT ON?

1. S0028T° SN 925ASTBEISO - QOB

I 83,80 S 92550 - ST
Options :

1. ¥ 1 5575

2. % 1 S57(ehodd

3. % 10005 11 Bocky

4. % 1520 S 11 529 5°¢0

about:blank 63/111
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Question Number : 94 Question Id : 630680413830 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘wildlife sanctuary — district’ is/are correctly matched?
I. Manjira Wild Life Sanctuary - Sangareddy
II. Kinnerasani Wild Life Sanctuary - Medak

Options :

1.4 Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 95 Question Id : 630680413831 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 272> BEY (HSB0 BOOMPE) T°) HEFPOSTOE D000 8§08 (DEEISES (D) DBIE(N)?

L. 300 SNAINS 52T HBAXR Do 129.

IL B0B0 [T DO HOoRs 12769
Options :

R NS

2. ¥ 11 557 ¢hodd

3. % 10005 11 Boy

4. % 1520 S 11 520 5°¢0

Question Number : 95 Question Id : 630680413831 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding Telangana state statistics as per Census 2011?

I. Total number of Municipal Corporations is 129.

II. Total number of Gram Panchayats is 12769.
Options :
about:blank 64/111



10/19/23, 11:58 AM about:blank
1. # OnlyI
2. % Only II
3. % BothIandII
4. % Neither I nor II

Question Number : 96 Question Id : 630680413832 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 23725 BEY [DSS0, BOMTE (T 237 T°( 5 N0 BrereS’ 0.
Options :

1. # 38.88

2. % 36.12

3.9 61.12

4. % 63.88

Question Number : 96 Question Id : 630680413832 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per Census 2011, rural population of Telangana is percent of the total population of the state.
Options :

1. ¥ 38.88

2. % 36.12

3.9 61.12

4. % 63.88

Question Number : 97 Question Id : 630680413833 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 B BEYS (DSS0, BOOME TR (eT0 R0 H0200H0D 808 525" IE() DBSE(D)?
L. BNB0 BT (TedPed QoS 9834.

I 2T B VB0 (P> HOWS 379.

Options :

1. ¥ 13575

about:blank 65/111
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2. % 1 S5°(hodd
3. % 1 0805w 11 Bocky
4. % 1520 S 11 520 5°¢0

Question Number : 97 Question Id : 630680413833 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding Telangana state statistics as per Census 20117?
I. Total number of inhabited villages is 9834.
II. Total number of un-inhabited villages is 379.

Options :

1. ¥ Only I

2. % Only II

3. % Both I and II
4. %* Neither I nor I

Question Number : 98 Question Id : 630680413834 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOMED 2019-20 SDECEM 2020-21 S0 E5FE TS Eoeh )3’ 250 B BDEND SN TOOD.
Options :

1. * 8.6

2.¥ 14.6

3. % 19.6

4. % 22.6

Question Number : 98 Question Id : 630680413834 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana registered percent growth rate in production of Foodgrains between 2019-20 and 2020-21.
Options :

1. % 8.6

2.¥ 14.6

3. % 19.6

about:blank 66/111
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4. % 226

Question Number : 99 Question Id : 630680413835 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Q0508 DY Bed ) 202165, 5o HT55ed HrDES” B 0OMPed )56 TR0,
Options :

1. % 85

2. % 90

3. % 95

4.4 100

Question Number : 99 Question Id : 630680413835 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the Export Preparedness Index 2021, Telangana has scored in the Business environment indicator.

Options :
1. % 85
2. % 90
3.% 95
4.9 100

Question Number : 100 Question Id : 630680413836 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOI B Borer FE35050 D000 80O F5e56S” DE(D) DB IE()?
L 80P’ INB0 F S78HS’ 61.80 TS50 (P BTSN,
1L BOOMTS’ BB BB Y 9.56 F°50 27300 BT EIEN.

Options :

1. ¥ 15575

2. % 1 S57(hodd

3. % 10805 I Bocky

4. % 1570 S 11 50 5°¢0

about:blank 67/111



10/19/23, 11:58 AM about:blank

Question Number : 100 Question Id : 630680413836 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Road Transportation network in Telangana?
I. 61.80 percent of the total road length in Telangana are rural roads.
II. 9.56 percent of the total road length in Telangana are National Highways.

Options :

1.4 Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 101 Question Id : 630680413837 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

O3 O°B% 25 (O°238)) BOON0 BO0rHS Y  H&00S &0,
Options :

1. ¢ J30©°¢h

2. % @000

3. % ZPorde0

4. % 208

Question Number : 101 Question Id : 630680413837 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Raja Rajeswara (Rajanna) Temple is situated in town of Telangana.
Options :

1. % Vemulawada

2. % Alampur

3. % Bhadrachalam

4. % Basara

about:blank 68/111
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Question Number : 102 Question Id : 630680413838 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

20808302 9D gy DO, &s DOCHH BOTPED TBNE), DO HBE (DS DBNEZ0ICHOE.
Options :

N Tec

2. ¥ Jre

3. % S

4. % QM

Question Number : 102 Question Id : 630680413838 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bathukamma is a festival of . This festival is treated as a symbol of Telangana’s cultural identity.
Options :

1. # bulls

2. ¥ flowers

3. # trumpets

4. %* elephants

Question Number : 103 Question Id : 630680413839 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ) BT ERTON DB H5BBE FTEFe DSBON?
Options :

1. % Fo oddew

2. % 2,00 Edew

3. % fl@rew

4. ¥ P TP

Question Number : 103 Question Id : 630680413839 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 69/111
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The narratives of which of the following art forms describe struggles against exploitation?
Options :

1. # Golla Suddulu
2. % Oggu Kathalu
3. % Gotralu

4. % Dhoom Dham

Question Number : 104 Question Id : 630680413840 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO Tl D) © D0SE)0S 80 e3¢5 AA(R) HBIA(D)?

L S0TCH $69) .53 SeFSEN 2380502 DOH A0S &IOTBFAT .

IL ©083) S0BSB 5000 TS0 230 TTER D FPB0D) TN DOSTFEOT .
Options :

1. ¥ 15575

2. % 1 S57(hodd

3. % 10805 I Bocky

4. % 1570 S 11 50 5°¢0

Question Number : 104 Question Id : 630680413840 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the State symbols of Telangana?
I. Tangedu flower is used during the Batukamma festival by women folk.
II. Lord Rama worshipped Jammi Chettu before invading Lanka and vanquished Ravana.

Options :

1. ¥ Only I

2. % Only II

3. % Both I and II
4. % Neither I nor I

Question Number : 105 Question Id : 630680413841 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 70/111
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202370° QGBS LS%JQ>§> H0D0E0D 80A FSEOS” DA(D) DB IE(D)?
L 2027°0° &S (S°ew BOOTRS'D 20257070 (182 HOTS Bf) HOLHTTOD BB BAE' ST E TS Soew.
1. 28 &S Ls"oaéo EDBIAOD) LRV TR ORIONEGE, (BB 38y T3 28 Sd0.

Options :

1. % 1 30(ehodd

2. % 1 S57(hodd

3. ¥ 1 0805 11 Bocky

4. % 1520 S 11 50 5°¢0

Question Number : 105 Question Id : 630680413841 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Banjara Needle Crafts?
I. Banjara Needle Crafts are the traditional handmade fabrics made by Banjaras (the tribal Gypsies) in Telangana.
II. It is a form of embroidery and mirror work on fabrics employing the needlecraft.

Options :

1. % Only I

2. % Only II

3. ¥ Both I and II
4. % Neither I nor I

Question Number : 106 Question Id : 630680413842 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0T 3BBSE H020E0D 808 ¢35 AA() DBIE(R)?
L. &I @70 88 )6 AB0TK.

I1. 25 3000 19045 AE DA™ (05305 230,
Options :

I NN

2. % 1 S07(ehodd

3. % 10005 11 Boky

4. % 150 B 11 5°Q 5°¢0

about:blank 71111



10/19/23, 11:58 AM about:blank
Question Number : 106 Question Id : 630680413842 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding Medak Cathedral?
L. It was built by Charles Walker Fasnet.
II. It was consecrated on 25 December 1904.

Options :

1.4 Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 107 Question Id : 630680413843 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0 €0 DA SEYIEITIE H0200H0D) 80 55T IE(D) DBIE(D)?

L. 8OO TR (D2065 .50 26,065 FETOS Do 98598, STOE HCHF T 26 250 FH0 & SEHESTY 3 oSS oS 3
53 S0V,

I1. e 5255800 B0 E5°.17289 £ 2TES (rE0D0N0R0A.

Options :

1. ¥ 1 5575

2. % 1 S57(hodd

3. % 10805 I BOy®

4. % 520 S 11 5°Q 570

Question Number : 107 Question Id : 630680413843 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in regarding the Mana Ooru—Mana Badi Programme?

I. Telangana State Government started the programme for comprehensive development and strengthening of Infrastructure facilities in 26,065 Schools in 3
phases spread over 3 years.

II. The programme was started with total budget outlay of Rs.17289 crores.

Options :
1. ¥ Only I
2. % Only II

about:blank 72/111



10/19/23, 11:58 AM about:blank

3. % BothIand II
4, % Neither I nor II

Question Number : 108 Question Id : 630680413844 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

17 9025 194885, 275 eh (352565 50 TXT°erE T aFQ), 25°3eh CrAANSES ' S0Z0T°S TS O DIE S5
QB LPOD0E.

Options :

1. % e3DBAS [BTBOE

2. % SOBAS 23AD

3. % @O0 DT

4. SHBAS S’

Question Number : 108 Question Id : 630680413844 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

On 17 September 1948, the Indian government conducted a military operation called to bring Hyderabad state into the Indian Union.
Options :

1. # Operation Trident

2. % Operation Vijay

3. % Operation Python

4. ¥ Operation Polo

Question Number : 109 Question Id : 630680413845 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 (223 DN e (TPS) 03§90V )oIE0?
Options :

1. ¥ For J08& Somrdd

2. % 0. T B

3. % HC @

4. % 2005 T°eNadT%)

about:blank 73111
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Question Number : 109 Question Id : 630680413845 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was the founder of Telangana Praja Samithi (TPS)?
Options :

1. # Konda Venkat Ranga Reddy

2. % M. Chenna Reddy

3. % HC Heda

4. * Pendyala Raghava Rao

Question Number : 110 Question Id : 630680413846 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

195265 23805 TNCHES (D208 DALEES 3FNT2rE TR S0P XV0(BMT 5D D) EASP§E?
Options :

1. % §0% 308 o BSG

2. % 0.8 398

3. ¢ 257 T°0E e T°)

4. % OME S (D0 DO

Question Number : 110 Question Id : 630680413846 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was elected chief minister of the Hyderabad State in its first democratic election in 19527
Options :

1. # Konda Venkat Ranga Reddy

2. % M. K. Vellodi

3. ¥ Burgula Ramakrishna Rao

4. % Tanguturi Prakasam Pantulu

Question Number : 111 Question Id : 630680413847 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
about:blank 741111
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6 persons A, B, C, D, E and F are sitting around a circular table facing towards the centre (not necessarily in the same order). A is

about:blank

sitting second to the right of F. Only one person is sitting between B and D. E is sitting to the immediate right of C. Only two persons

are sitting between B and F.

Match the following persons in column I with the person sitting opposite to him from column II.

Column I | Column IT
L B 1. F
II. cC | 2. D
oI | E 3. A
Options :

| v I-1,1I-211I-3

o w I-11I-31II-

g

3 % [-2,11-1,1IT-3

4 % I-2,11-3,III-1

Question Number : 111 Question Id : 630680413847 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank

751111
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A,B.C.D, E 50003 F &9 6 a008 s5§£e0 HyZrse0 28 g Soirds esdadwporr (98 50065 EoEHDND D00 S)

about:blank

SPEONTY . A, F& ©OAEDDD Boctad ra%}fn.:‘_mes*" ST 0. B 20800» D 063 206 a8 D0rgn ST . €8 dgee AN E

SPENTR) €9, B a080in F ] Q@ fgien arrga) SN .
DO 165°D §0d DO HDD I Aol 788 AT SPMNDY EF 2800 0l

st I o I

1. 1. |F

1I. 2.

II1. 3. |A
Options :

| v I-1, -2 1I-3

5 % I-1I-31I-2

;% I-2,11- 1,113

4 v I-2,11-3,III-1

Question Number : 112 Question Id : 630680413848 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a row of students, Raman ranks 20™ from the right and 15™ from the left. How many students are there in class?

Options :
1 ® 32

) % 33

about:blank

76/111
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3.¢ 34

4 % 36

Question Number : 112 Question Id : 630680413848 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
DOEIIR HERE” T70D $HE Aoc: 205 @8I e G 158 TS SFomre. BB B0 Jod 0ok DEFyEen &) W7

Options :
1. % 32

) # 33

3.« 34

4 % 36

Question Number : 113 Question Id : 630680413849 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Seven friends namely — P1. P2, P3. P4, P5, P6 and P7 are living in a building of seven floors, lowermost floor is numbered 1, floor

above it is numbered 2 and so on till the top-most floor which is numbered 7. Each person lives on a single floor. P1 lives on a floor
numbered four. No one lives below P7. Only one person lives between P6 and P5.P2 lives above P4 and four people live between
them. P6 lives above P5.

Which of the following is the correct order of people from top to bottom?

Options :
R4 P2, P3. P6, P1, P5. P4, PV
y % P2, P3. P4, Pl P5. PG, BV

about:blank 77111



10/19/23, 11:58 AM about:blank
3 % P2, P6, P3, P1, P5, P4, P7

4 % P2,P7,P6,Pl,P5 P4, P6

Question Number : 113 Question Id : 630680413849 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DD 2y areiorn - P, P2, P3, P4, PS5, P6 a0B0mn P7 D6 €90800) 23530065 D0 . D& 9080 1 dowbd &od, o°d
DO &) LoBRD 2 Db Eod DBATL &P D) o) S5 IGOND 75 OB DO WD DT Do &) on. 28 i 2.8,
€908 DDV . P1 00220 7TenfT e9082065° DDV 9. P7 8065 dDAP Daddocsh. P6 20Batn PS 06 2.8 28 953
SreaD Do, P2, P4 05 DDVLOT™) 62 DOBOTD T8 SO DRV DIEKED DDVROT) . P6, PS5 S0€3 2 DRI €.
300 TS P ol 3083 SO IV, VB §0o JE?

Options :
|« P2, P3, P6, PL, P5, P4, P7

o w P2,P3,P4,Pl P5 P6, P7
3 % P2,P6,P3,PL P5 P4, P7

4 % P2,P7,P6,PL P5 P4, P6

Question Number : 114 Question Id : 630680413850 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 78/111



10/19/23, 11:58 AM about:blank

In the following question below are given some statements followed by some conclusions based on those statements. Taking the
given statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide
which of the given conclusion logically follows the given statements.

Statements:

L AllR are G.

II. Some G are L.

Conclusion:

I NoF are R.

IT. All F are G.
Options :
| % Only conclusion I follows

» % Only conclusion II follows

3 % Both conclusions I and II follows

4+ Neither conclusion I nor II follows

Question Number : 114 Question Id : 630680413850 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 79/11



10/19/23, 11:58 AM about:blank
S0 23 e5° 80y Dstoden, v esprdorr 5y &w&@w FOCZITEO0). QLN SEIDLD oot 3D TP 0y ot
6:) ) ©IDODIDNDS TOD Do ) DOMEIoSE. ) BTLTOM Sd0d BT BN REOIVS” 3D To) Sorr
QOERD @U‘“&@“E_D £R0BFOIT DPa0eS0C:.

FOIIANI SV
L Eﬂﬁc‘l' RenG.

IT. é*’f];i Geo E
&7, do:

L F 96 vz R 52,

II. e::li'};l F enG.
Options :
- So0 | AFSD 00O

L, 90700 Il Argay e0dned

2.
3 % | 0005w || Toth @D"é@m 9:0BI"0
i énﬂgba’:no | 55 F @U“&an Il =5 DA escHBocdcd

Question Number : 115 Question Id : 630680413851 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 80/111



10/19/23, 11:58 AM about:blank
In the following question below are given some statements followed by some conclusions based on those statements. Taking the
given statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide
which of the given conclusion logically follows the given statements.
Statements:
I. All milk are curd.
II. Some curd are lemon.
Conclusion:
I. No lemon is milk.
IT. No curd is milk.

IOI. No curd is lemon.
Options :

| % Only conclusion I follows

> % Both conclusions IT and IIT follows
3 « Neither conclusion follows

4. % Both conclusions I and III follows

Question Number : 115 Question Id : 630680413851 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 81/111



10/19/23, 11:58 AM about:blank
S0 23 e5° 80y Dstoden, v esprdorr 5y &w&@w FOCZITEO0). QLN SEIDLD oot 3D TP 0y ot
6:) ) ©IDODIDNDS TOD Do ) DOMEIoSE. ) BTLTOM Sd0d BT BN REOIVS” 3D To) Sorr
QOERD @U‘“&@“E_D £R0BFOIT DPa0eS0C:.
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L 222y aren M.

IT. é*’f];i DD D) 500,
&7, do:

L D30y 5700 A& Fren ek,
I1. 26 D& e SPE.

III. b D& D) oD TP,
Options :
- B0°),50 T Q@D 9000008

) % Il s0dosw 1l Bocd Eﬁat}"é}ﬂ“&l}“ €908 7000

s 2 @D‘é{m ST €900

L% | 0805w |1l Do eﬁo"éaﬂw £9: 000000

Question Number : 116 Question Id : 630680413852 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 82/111



10/19/23, 11:58 AM about:blank
In the question given below, relationships between different elements are shown in the statements. These statements are followed by
two conclusions. Give answer:
Statements:
LG2H<I<I<K=L
Conclusions:
ILL=H
LI<G
Options :

|« Ifonly conclusion Iis true

, % Ifonly conclusion IT is true

3 % If neither conclusion I nor conclusion IT is true

4 % If both conclusions I and I are true

Question Number : 116 Question Id : 630680413852 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BDD QHEED H3) &S, DG 90TV DG 02OTFLD VSOIVES® BIDVEE0N. S HSLDVA) ot GULTE V00T 0N,
AT @&350(1:

2SEIeD:

L GzH<I<J<=K=L

So°) TeD:

ILL=H

IILI<G
Options :

about:blank 83/111



10/19/23, 11:58 AM about:blank

v So°)D0 | gy Dedjo

., 900 Il gy Hejo

2.

@D‘&‘:ﬁe | =5 do= @D“&:ﬁo Il 5 desgo P
3. %

| 3060530 1] Goch @D"é@m ;i:ne:ﬁéo
4. %

Question Number : 117 Question Id : 630680413853 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Six boxes namely A, B, C, G, H and K are placed on one above the another. B is immediately below C. One box is placed between G
and B. G is kept above B. Two boxes placed between A and C. A is at the top. K is above H. Which of the following is the correct

order of boxed from top to bottom?
Options :

1. \J‘) A-. K-u G. Cl‘. B._ H

> # AGKCBH

; » AKCGBH

4 % AKGCHRB

Question Number : 117 Question Id : 630680413853 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 84/111



10/19/23, 11:58 AM about:blank

A, B, C, G, H andoin K e 50 Den 2,500 08 eosagmon. C 856 300 B €otnod. G 0803 B angy 208
052203008, B 20 G €oscHeinod. A sndain C &des) 5o DGeD eoSag=on. A 92 & S0 DD &od K Hpd €od.
300 TS P ol $oHS DGO 0TV DT S50 IO?

Options :
| AKGCBH

, « A GKCBH
33-3 ﬁ,K,C,G__B__H

4. e A-. K-u G. Cl‘. H._ B

Question Number : 118 Question Id : 630680413854 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

WM. AL EE, IA. ?
Options :
1% MQ

> #% PH
3. % MY
4.« MW

Question Number : 118 Question Id : 630680413854 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 85/111



10/19/23, 11:58 AM about:blank
208 D0 @ﬁ:ﬁﬁoﬂa 363 @ Cod. 363D PG B T Aol D/ PTFLOF) AIFD) JocuE ol

WM. AL EE, IA, ?
Options :
1 x MQ

> # PH
3. % MY
4.« MW

Question Number : 119 Question Id : 630680413855 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

RTMQ, LHOM., HICG, BXEC. ?
Options :
| % MSMQ

o % MSRT
3. o XZSW

4 % XSTM

Question Number : 119 Question Id : 630680413855 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 86/111



10/19/23, 11:58 AM about:blank
208 D0 @ﬁ:ﬁﬁoﬂa 363 @ Cod. 363D PG B T Aol D/ PTFLOF) AIFD) JocuE ol

RTMQ, LHOM, HICG, BXEC, ?
Options :
| % MSMQ

o % MSRT
3 o XZSW

4 % XSTM

Question Number : 120 Question Id : 630680413856 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the series given below made up of digits.

5375724286195 8¢6396°97
How many odd digits occupy even places when counted from left to right?

Options :
1.3

Question Number : 120 Question Id : 630680413856 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 87/111



10/19/23, 11:58 AM about:blank

e20S0E &) Hbd 3B HDBIDomd.

5375 7242861958¢639¢69 7
DD D& S G 0DDDYED DO gvanueﬁ*’ &) 232 e9pZend DDy ?

Options :
1. 5

Question Number : 121 Question Id : 630680413857 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the series given below made up of digits.

1 7784579439585 4377¢6°35
How many odd digits are immediately followed by odd digits when counted from left to right?

Options :
1% 7

2.« 8
3 % 9

4 % 10

Question Number : 121 Question Id : 630680413857 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

about:blank 88/111



10/19/23, 11:58 AM about:blank
Correct Marks : 1 Wrong Marks : 0

9030 &) A 3e3D HOIDocsod.

1 77 8457943958543 77¢6S5
DED A0E DES T 0DV A B oSV BTH Do Fr) 90T DJo?

Options :
1. ® 7

2.« 8

4 % 10

Question Number : 122 Question Id : 630680413858 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘FUND’ is written as ‘BPJY’. What is the code for ‘GOAL’ in that code language?
Options :

1. % CKXH

, % CIWH
3 v CIWG

4 % CKWG

Question Number : 122 Question Id : 630680413858 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank 89/111



10/19/23, 11:58 AM about:blank
BN E& 08", ‘FUND’ 930 ‘BPIY’ 099 Trohiadod. &5 EE 225" ‘GOAL' EE Doed?
Options :
| % CKXH

, % CTWH
3 v CTWG

4 % CKWG

Question Number : 123 Question Id : 630680413859 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Shalu walks 95 km towards East. She turns left and walks another 75 km. She again turns left and walks 47km. In which direction is

her starting point now?
Options :
1 % North-East

> % South
3« South-West

4 % North-West

Question Number : 123 Question Id : 630680413859 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
aPeD BrEN DD 95 3.0 DAV, B IEDVPEY BOH T 75 8D HEDod. 50 S0P IESDEINSD BBH 47 3.0 DEDS.

WONED SR F70083 J700 ) OFS €067

about:blank 90/111
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Options :
S
L% 3

7 % 5SS

s v DO

4% iﬁ“maﬁéo

Question Number : 124 Question Id : 630680413860 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the related letter pair from the given alternatives.
PC:NA:?

Options :

1% XZ:MO

, % DF:AB

; % MO:NQ

, » QD:OB

Question Number : 124 Question Id : 630680413860 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 D3 &, DD DI 05FO Ao DoWOHS ET O 2B JocdEol.

PC:NA:?
Options :

about:blank 91/111



10/19/23, 11:58 AM about:blank
| % XZ:MO

, % DF:AB
; % MO: NQ

, » QD:OB

Question Number : 125 Question Id : 630680413861 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 D) &, @DND DIFEOI) 05T Ao DoD0BS LT 2B JodEod.

CZ:UX:7
Options :
1. % SH:MU

5 ¢ BQ:ILW
3. % ND:RM
4. % CB: WY

Question Number : 125 Question Id : 630680413861 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the related letter pair from the given alternatives.

CZ:UX:?
Options :
1. % SH:MU

about:blank 92/111



10/19/23, 11:58 AM about:blank
. T
, v BQ:LW

3 ®# ND:RM
4 % CB:WY

Question Number : 126 Question Id : 630680413862 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. % ABYC

o # UVSW
3 % KLIM
4 v NOLQ

Question Number : 126 Question Id : 630680413862 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 23", ADND PEFFAT) 0O Ao e TAE D DOTIFTD) JocbE ol

Options :
1 % ABYC

o # UVSW

3 # KLIM

about:blank 93/111



10/19/23, 11:58 AM about:blank
4, v NOLQ

Question Number : 127 Question Id : 630680413863 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ® XMAN

, % HWKX
3 v RGVH

4 % RGUH

Question Number : 127 Question Id : 630680413863 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 23 &5, @DND PEPEAT) 03P Aot DI TAF D DAFTITD) JocbE ol

Options :
1 % XMAN

, % HWKX
3 v RGVH

4 % RGUH

Question Number : 128 Question Id : 630680413864 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

about:blank 94/111
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Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

about:blank

In the following question, select the missing number from the given series.

54,33, 11, -12,-36,7

Options :
1.« —01

Question Number : 128 Question Id : 630680413864 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
30d P eY, QNS 3ed ol @i:gﬁﬁo_ua Doy JdocoFod.

54, 33, 11, -12,-36,7

Question Number : 129 Question Id : 630680413865 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

about:blank

95/111



10/19/23, 11:58 AM about:blank
In the following question, select the missing number from the given series.
15,19, 7, 44, 69, 105
Options :

1. % 20

) # 24

Question Number : 129 Question Id : 630680413865 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
306 2 &5, QDD 36 ol @i}gﬁﬁms& 202570 DdocFod.
15, 19,7, 44,69, 105

Options :
1% 20

) #% 24

Question Number : 130 Question Id : 630680413866 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IfIDASB3=12and6A2B7=1.then IRA6B5=7
Options :

about:blank 96/111



10/19/23, 11:58 AM about:blank

1 % 8

7 # 18

4.« 19

Question Number : 130 Question Id : 630680413866 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I0ASB3=12 080006 A2B7=1 0053, IRA6B5=7
Options :

1 % 8

) # 18

4.« 19

Question Number : 131 Question Id : 630680413697 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I saw a river yesterday. river was blue in colour.
Options :

1. % A

2. % The

3. % An

4. % No article

about:blank 97/111
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Question Number : 131 Question Id : 630680413697 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I saw a river yesterday. river was blue in colour.
Options :

1. % A

2. ¥ The

3. % An

4. % No article

Question Number : 132 Question Id : 630680413698 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Today, almost all states have the library associations.
Options :

I. % an

2. ¥ the

3.% a

4. % No article

Question Number : 132 Question Id : 630680413698 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Today, almost all states have the library associations.
Options :

1. % an

2. ¥ the

3.% a

about:blank 98/111



10/19/23, 11:58 AM about:blank

4. # No article

Question Number : 133 Question Id : 630680413699 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
My sister always does things like that purpose.

Options :
1. % on
2. % of
3. % by

4. * from

Question Number : 133 Question Id : 630680413699 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
My sister always does things like that purpose.

Options :
1. ¥ on
2. % of
3. % by
4. #* from

Question Number : 134 Question Id : 630680413700 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
Our best-in-class customer service team is always here

Options :
1. #* helped
2. % helps
3. % helping
4. % to help

about:blank 99/111



10/19/23, 11:58 AM about:blank

Question Number : 134 Question Id : 630680413700 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct alternative.
Our best-in-class customer service team is always here

Options :
1. # helped
2. % helps
3. * helping
4. % to help

Question Number : 135 Question Id : 630680413701 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

Just the right opportunity for members to catch on and share political or personal news with each other.
Options :

1. # Just the right opportunity

2. % for members to catch on

3. # and share political or personal

4. % news with each other.

Question Number : 135 Question Id : 630680413701 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

Just the right opportunity for members to catch on and share political or personal news with each other.
Options :

1. % Just the right opportunity

2. % for members to catch on

3. % and share political or personal

4.

# news with each other.

about:blank 100/111



10/19/23, 11:58 AM about:blank

Question Number : 136 Question Id : 630680413702 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

Even that defeat against the eastern neighbor happened as key players were rests while the bench strength was tested.
Options :

1. # Even that defeat against the

2. % eastern neighbor happened as

3. ¥ key players were rests while

4. % the bench strength was tested.

Question Number : 136 Question Id : 630680413702 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the part of the sentence that has a grammatical error.

Even that defeat against the eastern neighbor happened as key players were rests while the bench strength was tested.
Options :

1. #* Even that defeat against the

2. % eastern neighbor happened as

3. ¥ key players were rests while

4. % the bench strength was tested.

Question Number : 137 Question Id : 630680413703 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
I am not feeling well/today, so please/come tomorrow at the same time.

Options :

1. # T am not feeling well

2. # today, so please

3. # come tomorrow at the same time
4. % No error

about:blank 101/111



10/19/23, 11:58 AM about:blank

Question Number : 137 Question Id : 630680413703 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
I am not feeling well/today, so please/come tomorrow at the same time.

Options :

1. # T am not feeling well

2. % today, so please

3. # come tomorrow at the same time
4. % No error

Question Number : 138 Question Id : 630680413704 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
I will not cut the cake/if you will not/come to my birthday party.

Options :

1. # I will not cut the cake

2. ¥ if you will not

3. % come to my birthday party

4. % No error

Question Number : 138 Question Id : 630680413704 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
I will not cut the cake/if you will not/come to my birthday party.

Options :

1. # T will not cut the cake

2. ¥ if you will not

3. # come to my birthday party

4. % No error

about:blank 102/111
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Question Number : 139 Question Id : 630680413705 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

The have not bought the house yet, ?
Options :

1. # hadn’t they

2. %* had they

3. % haven’t them

4. ¥ have they

Question Number : 139 Question Id : 630680413705 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

The have not bought the house yet, ?
Options :

1. #* hadn’t they

2. * had they

3. # haven’t them

4. ¥ have they

Question Number : 140 Question Id : 630680413706 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

A mobile number does not have 9 numbers, ?
Options :

1. # doesn’tit

2. % doit

3. % does it

4. ® is it

about:blank 103/111



10/19/23, 11:58 AM about:blank

Question Number : 140 Question Id : 630680413706 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

A mobile number does not have 9 numbers, ?
Options :

1. # doesn’t it

2. % doit

3. % does it

4. % isit

Question Number : 141 Question Id : 630680413707 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the passive form of the given sentence.

I had washed all the windowpanes before the rain.

Options :

1. # All the windowpanes have been washed before the rain.
2. # All the windowpanes has been washed before the rain.

3. ¥ All the windowpanes had been washed before the rain.

4. % All the windowpanes were washed before the rain by me.

Question Number : 141 Question Id : 630680413707 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the passive form of the given sentence.

I had washed all the windowpanes before the rain.

Options :

1. % All the windowpanes have been washed before the rain.
2. % All the windowpanes has been washed before the rain.

3. ¥ All the windowpanes had been washed before the rain.

about:blank 104/111



10/19/23, 11:58 AM about:blank

4. # All the windowpanes were washed before the rain by me.

Question Number : 142 Question Id : 630680413708 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the passive form of the given sentence.

Ramesh will locate your spectacles.

Options :

1. #* Your spectacles would be located by Ramesh.
2. % Your spectacles had been located by Ramesh.
3. % Your spectacles will be located by Ramesh.
4. % Your spectacles shall be located by Ramesh.

Question Number : 142 Question Id : 630680413708 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the passive form of the given sentence.

Ramesh will locate your spectacles.

Options :

1. # Your spectacles would be located by Ramesh.
2. # Your spectacles had been located by Ramesh.
3. ¥ Your spectacles will be located by Ramesh.
4. # Your spectacles shall be located by Ramesh.

Question Number : 143 Question Id : 630680413709 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To have a finger in the pie
Options :
1. % To confess your faults

2. % To have an interest or share

about:blank 105/111
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3. # To have no reservations

4. # To plead someone

Question Number : 143 Question Id : 630680413709 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To have a finger in the pie
Options :

1. # To confess your faults

2. % To have an interest or share
3. # To have no reservations

4. # To plead someone

Question Number : 144 Question Id : 630680413710 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Flag something/someone down

Options :

1. % Signal to stop

2. * To administer

3. % To reconstruct the plan

4. ® To control someone

Question Number : 144 Question Id : 630680413710 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Flag something/someone down

Options :
1. % Signal to stop

2. % To administer

about:blank 106/111



10/19/23, 11:58 AM about:blank

3. % To reconstruct the plan

4. ® To control someone

Question Number : 145 Question Id : 630680413711 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the word that means the same as the given word.

Lackluster
Options :

1. ¥ Sombre

2. ® Incandescent
3. # Radiant

4. # Reluctant

Question Number : 145 Question Id : 630680413711 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the word that means the same as the given word.

Lackluster
Options :

1. ¥ Sombre

2. ®* Incandescent
3. # Radiant

4. % Reluctant

Question Number : 146 Question Id : 630680413712 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the word that is opposite in meaning to the given word.

Veracity
Options :

1. ¥ Prevarication

about:blank 107/111
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2. # Comprehension
3. % Audacity
4. % Denial

Question Number : 146 Question Id : 630680413712 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the word that is opposite in meaning to the given word.

Veracity

Options :

1. ¥ Prevarication
2. # Comprehension
3. # Audacity

4. # Denial

Question Number : 147 Question Id : 630680413713 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the incorrectly spelt word in the given sentence.

Transport rutes avoiding Russia have gained in importance.
Options :

1. # Transport

2. ¥ rutes

3. % gained

4. * importance

Question Number : 147 Question Id : 630680413713 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the incorrectly spelt word in the given sentence.

Transport rutes avoiding Russia have gained in importance.
Options :

about:blank 108/111
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1. # Transport
2. ¥ rutes
3. % gained

4. * importance

Question Number : 148 Question Id : 630680413714 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the incorrectly spelt word in the given sentence.

The conflict would not be govrened by the entirety of the laws of war.
Options :

1. % Laws

2. % conflict

3. # entirety

4. % govrened

Question Number : 148 Question Id : 630680413714 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the incorrectly spelt word in the given sentence.

The conflict would not be govrened by the entirety of the laws of war.
Options :

1. # Laws

2. % conflict

3. % entirety

4. ¥ govrened

Question Number : 149 Question Id : 630680413715 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I a girl who was screaming loudly at her friends.

about:blank 109/111
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Options :
1. ¥ sew
2. % soar
3. ®* sore
4. ¥ saw

Question Number : 149 Question Id : 630680413715 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I a girl who was screaming loudly at her friends.
Options :
1. % sew
2. % soar
3. % sore
4. ¥ saw

Question Number : 150 Question Id : 630680413716 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

The smaller, more style is more suitable for everyday wear.
Options :

1. ¢ discrete

2. % discreet

3. # desecrate

4. ® dissect

Question Number : 150 Question Id : 630680413716 Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

about:blank 110/111



10/19/23, 11:58 AM about:blank

The smaller, more style is more suitable for everyday wear.
Options :

1. ¢ discrete

2. % discreet

3. % desecrate

4. % dissect

about:blank 111111



